[image: image1.png]Rational Expressions

Objectives To simplify rational expressions
To multiply and divide rational expressions

(@ Content Standards

A.SSE.2 Use the structure of an expression to identify
ways to rewrite .

ASSE.1.b. Interpret complicated expressions by
viewing one or more of theirparts as a single entiy

Also ASSE-1.a




A _______Rational expression _______is an expression that is a quotient of two polynomials.

To simplify fractions we divide both the numerator and denominator by a _____common factor_____.
Anytime we have variables in the denominator of a fraction, we have to recognize that the variables cannot have a value that would make the denominator equal to ___zero___.   
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Yes, before you divided
‘the common factors out,
(x + 2) was one of

the factors of the

denominator so x # ~2.

plifying a Rational Expres

Whatis £ 75210

in simplest form? State any restrictions on the variable.

24 7x+10 (2t 5)

S - g Factorthe numerator and denominator

- % Divide out common factors.
=&£4 Simplify.

‘The simplified form is < for x # 5 and x # —2. The restriction x # ~2 is not evident

from the simplified form, but is needed to prevent the denominator of the original
expression from being zero.
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To multply rational
expressions, you
multiply the numerators
and multply the
denominators.

@ Problem 2 JIWINNET] Ruﬂonul Expressions.

Srr-6
-5 x=+u+3

What s the product =—+£=6
on the variable.

Rix-6, _»-25

x5 P2tar+3

in simplest form? State any restrictions

LG8 -5)

G o)y Factorall polynomials.

GG T Divide out common factors.

LRSS Simpliy

The productis E—24 for ¢ # 3, x # 5, and x # ~1. The restrictions x # ~3
and x# 5 are not evident from the simplified form, but are needed to prevent the
denominators in the original product from being zero.
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dowhen you divide rational numbers.

? [IPTPE) Dividing Rational Expressions
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Whatis the quotient in simplest form? State any
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b. Reasoning Without doing the calculation, what is greatest number of
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restrictions the quotient could have? Explain.
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[image: image11.png]Multiply. State any restrictions on the variables. 4 See Problem 2.
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[image: image14.png]Divide. State any restrictions on the variables. 4 See Problem 3.
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